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ELECTRICAL AND ELECTRONIC MEASUREMENTS
Fruifa amg . 3 w2 [3rftremem 37 : 60
Time allowed : 3 Hours| [Maximum Marks : 60
Fe: () VA-TFHRATIFAC Hea
Note : There are THREE sections in the paper A, B and C.

(ii) AP T T T GG 1 F G 10 977 & IR Hf0 | G2 9T 0 3 18 vF
&4 10 577 TGI8 FFR % T F 8 |

Answer all the 10 parts of the question Ne. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) AFwT @ F 8 yv 7 @ 587 6 591 & I A0 | ¥9F 597 3 HF 1 8 v
FTH1 5 FT / 50 =G H I A /

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) Q%7 & F 6 971 7 @ gl 4 w1 & I T | 9% Fo7 8 % F1 8 vd
§9%7 15 157 / 150 91g] 5 3o forw |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v) FAF T F G 5] FI FHAR 0F T FA AT /|
Solve all the questions of a section consecutively together.
(vi) g1 9TI37 4 3 817 F1 T 7 3 srqarg 8 e 8 |

Only English version is valid in case of difference in both the languages.

JWH - T
Section — A
1. (i) <ega A 37 faega g & foea wwma wHr #a @ -
(a) FfguwE (b) =& IE
(c) wehrsfia wuE . (d) 3IutEm et
Electrical measuring instrument works on which effect of electrical current ?
(a) Heating effect (b) Magnetic effect
(c) Lighting effect (d) All of these
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Agfos wras 731 6 HurE % Fain & forg Fad Iuga ug R -

(@) ¥ (b) ATEhIE

(c) T (d) TR SIS

Most suitable metal for spring in electrical measuring instruments is

(a) Steel (b) Nichrome

(¢) Ureka (d) Phosphor Bronze

Fieedter it ww fowan & for g 2 -

(a) 3= wfedy Sofsrm & (b) I wferry gHiaR F9 A

(c) o= wfedy dofterm & (d) For= iy smiae e &
What is connected for range extension of voltmeter ?

(a) High resistance in series (b) High resistance in parallel

(¢) Low resistance in series (d) Low resistance in parallel
fomm o @ wree 9= =gan wifd e & g -

(a) RO YR & (b) T B THR HI

(c) SHEAHMIE JHR H1 (d) Tl gras 96 HSA JHR HI
Which one of the following measuring instruments consumes the least power ?
(a) Induction type (b) Moving iron type

(c) Dynamometer type (d) PMMC type

us uftey i wfeamman 220, wifa s 0.8 gvermt vay uw F1 AE 10 TR R
et wifda &1 7 B -

(a) 2.2kVA (b) 22kVA
() 220kVA (d 1.76kVA

A circuit has an impedance of 2202, 0.8 power factor lagging and current is
10 amperes. What will be the apparent power ?

(a) 22kVA (b) 22kVA

(¢) 220kVA (d) 176 kVA

7fe W & fadl o dieean 1002 sin 500t, €T R 1 7H 1042 sin (500t + 7/3)
2 A W gra I wifd 1 e g -

(a) 500W (b) 200W

(c) 1000W (d) 2000 W

If voltage across load is 10042 sin 500t and current through load is

10 \6 sin [SOO( + %) , then power consumed by load will be

(3) 500 W (b) 200 W
(C) 1000 W (d) 2000 W

Fatardt 1 e fries g 2 -

(a) =R ufy faren afe smar (b) itz smar wfy R

(c) Teper ate ufe & (d) R ufy feiaie

The meter constant of an energy meter is :
(a) Revolutions’kWh (b) kWh/Revolutions 4

(c) kW/Revolutions (d) Revolutions’kW
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(viii) afe e et # it 7fe # 0 frm s apar R -

(a) T % 3t & ol
(b) R=mwFmEFH
(c) Tee® % =@ gl ot o fog et
(d) dfa i foem & wEm

In a watt hour meter, the creeping error is reduced by :

(a) rotating the disk faster

(b) increasing weight of the disk

(c) drilling two holes on opposite sides of the disc diameter
(d) using a copper disc

(ix) T Gehash (e THR H 8 & 7
(a) 1 (b) 5
() 2 (d 10
How many types of phase sequence indicator are there ?
(@ 1 b 5
(©) 2 (d 10
(x) ¥ o sftex e e R -
(a) WeaTadl UT (b) fewar
© (@3 ®)TH () ot T
Earth tester operates on
(a) AC only (b) DC only
(c) Both (a)and (b) (d) None of these
A - d
Section - B
2. P ey Rdraes w1ow 399 # A TR |
Differentiate between absolute and secondary measuring instruments.
3. dredd WA § NI TWTE Y FHETST |
Explain loading effect in voltage measurement.
4. aredie i 8 areh Ffeat fofaa |
Write the errors in wattmeter.

5. i vy iR T A o st e AR |
Differentiate between Creeping & Power factor adjustments.

6. o afofia we fna ahonfia 3 s ffed |

Write applications of current transformer & potential transformer.
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A

10.

11.

12.

13.

14.

15.

391 9 7 R 3R saeh Agfes mrom e R 7

What is Calibration and why this is needed in electrical measurement ? 3)
I Wity 7o § ARETel! geens S geEE |
Describe problems occurred in high resistance measurement. 3)

T FreHiet 1 U $useht @ gra Fueet w1 ufeiy 0.03 Q 7 6000Q FUT: & | AR wR
220V 3 0.6 e oI W 20A urr o & | wfeerd 3f 6t e HivA 7 a6
U FUSelt W W qE R |

A wattmeter has a current coil & pressure coil of 0.03 Q & 6000 Q respectively. If
the load takes 20 A at 220 V and 0.6 power factor. Calculate the percentage error if
the current coil of wattmeter is on the load side. 3)

o -
Section - C
PMMcnmdaﬁﬁm,mhm,m,smmmmml

Describe construction, working merits, demerits & applications of PMMC measuring
instrument. (8)

T Tearrier 1 wfeiy 250 & @ qof we 8 1mA TSI BT @ | Wi 3 @
IFIRT 0-10V I 7193 & Aoft wfedry &Y momn Hif |

A galvanometer resistance is 25Q and full scale deflection receive at 1 mA. Calculate

the required series resistance to use measuring instrument for 0-10 V. (8)
Fatardt & € areht 3w vag 3 afrgfi @ wwgmu |
Describe the errors and their compensations in energy meter. (8)

mqﬁﬂmﬁnms@ﬁﬁaﬁxmﬁhﬁma@mm@aﬁm |
Describe the different between indicating & recording instruments and explain
damping torque. (8)

@ﬁmdﬁ%awmm%mzﬁmﬁhﬂﬁmwtlmmiﬁm
I 2: 1 B aRw & wife o @1 9 i i |

Power measurement of a three phase balance load is done by two wattmeter method.
Ratio of wattmeters reading is 2 : 1, then find the value of power factor of circuit. (8)

= &1 aofq W :
Describe the following :
(i) 3 e

Ohm meter
(i) 5 FTHH gu®

E Phase sequence indicator (4+4)



